Plants for Food and Fibre
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Elizabeth Stewart, a master gardner from Toronto, admires the Amorphophalus titanum or Titan Arum, which has bloomed at the Niagara Parks Floral Showcase in Niagara Falls. It is the tallest flower in the world and it’s believed to be the first time it has ever bloomed in Canada. The flower is 241 cm. (95 inches) in height.(TONY RICCIUTO/Niagara Falls Review) 
http://www.torontosun.com/2012/05/05/rare-stinky-corpse-flower-blooms-in-canada
*Please do NOT write in test booklet.  Mark all answers on the Scantron sheet provided.

**Read each question carefully and choose the most correct answer.
***If you have any questions, please raise your hand and wait patiently until the teacher comes to assist you
True or False
1. Genetic modification means that people choose specific plants with particular characteristics and encourage the plants to reproduce.

A) TRUE

B) FALSE


2. Canola is selectively bred from rapeseed.

A) TRUE

B) FALSE


3. Layering is a common method of asexual reproduction in plants.
A) TRUE
B) FALSE


4. Green beans, cucumbers, tomatoes and apples are all fruits.
A) TRUE
B) FALSE

5. Germination is the development of a seed into a new plant.
A) TRUE
B) FALSE

6. Cones are a mass of wooden scales from conifers and pines containing reproductive structures.
A) TRUE
B) FALSE

7. After flowering, burdock bushes snap off from the roots and tumble along spreading seeds.
A)TRUE
B) FALSE

8. Cross-pollination is when the egg of one plant species is fertilized by the sperm of another plant from a different species.

A) TRUE
B) FALSE

9. In Sexual Reproduction, plants produce young plants that are genetically identical to the parent plant.

A) TRUE
B) FALSE

10. A fruit is the growing ovary of the plant that swells and protects the developing seeds of a plant until they are ripe.

A) TRUE
B) FALSE
11. Chemical control of pests is not only effective, it is environmentally friendly. 

A) TRUE
B) FALSE


12. Organic food is produced without the use of chemical pesticides or fertilizers. 

A) TRUE
B) FALSE
13.  Monocultures have a variety of different species that allow for crop rotation.
A) TRUE
B) FALSE

14. Dandelions are plants that are native to North America. 

A) TRUE
B) FALSE

15. Many weeds are species brought to Canada by humans. Unfortunately, these types of plants are not easily controlled. 

A) TRUE
B) FALSE
Multiple Choice
16. Which one of the following is NOT a function of roots?
a) Have stomata to allow for transpiration of water into and out of the plant with temperature changes.
b) Support and anchor the plant to the ground.
c) Store food for times of scarcity and drought.
d) Absorb minerals such as nitrogen and potassium from the soil.

17. The following are roots that you can eat
a) potatoes, carrots and rhizomes
b) radishes, pine tree and potatoes
c) carrots, radishes and turnips
d) carrots, radishes and apple trees

18. ________________ is a special kind of ___________________ that takes place through a differentially permeable membrane.
a) Diffusion, osmosis
b) Osmosis, diffusion
c) Osmosis, equilibrium
d) Absorption, osmosis

19. The layer of cells on a tree that transports sugar (food) in vessels is called:
a) xylem
b) cambium
c) phloem
d) heartwood

20. Which of the following is NOT a type of stem
a) tuber
b) corm
c) rhizomes
d) phloem

21. The _____ is dead wood found in the centre of the tree. It is important in making the tree strong as it grows taller.
a) heartwood
b) cambium
c) bark
d) epidermis

22. The ___________ is important for insulating the tree.
a) heartwood
b) cambium
c) bark
d) epidermis

23. Which of the following is NOT a function of plant stems?
a) support leaves
b) transport water and nutrients
c) absorb sunlight
d) food storage

24. The production of food by organisms having chlorophyll is called:
a) osmosis
b) germination
c) pollination
d) photosynthesis

25. Which two terms would correctly fill in the blanks for the photosynthesis equation, _____________________ + water → sugars + ___________________.

a) carbon dioxide, oxygen
b) oxygen, carbon dioxide
c) carbon dioxide, water
d) fertilizer, oxygen

26. Which of the following is one of the 7 crops that make up 75% of the worlds food supply?
a) Beans
b) Maize (corn)
c) Cocoa
d) Seaweed
27. Parent material in soil refers to:
a) water which brings in nutrients for a new crop of plants each year.
b) the mineral matter (rock, clay, sand) from which soil develops
c) the plants that will create more soil when they die and decompose
d) humus
28. Under high water pressure conditions, guard cells will:
a) close stomata
b) open stomata
c) protect the stomata from bacterial infections
d) protect the plant from viral infections
29. This medicine is derived from the tree bark of the white willow tree:
a) Tylenol
b) Pepto-Bismol
c) Aspirin
d) Morphine

30. Cotton comes from
a) The root of the plant
b) The fibrous stem of the plant
c) The leaves of the plant
d) The seeds of the plant
31. Which of the following is not a concern of using chemical pest controls? 

A) Bioaccumulation of pesticides in a food chain.

B) Resistance to the chemicals being used, resulting in a need for higher doses.
C) Harming non-target organisms. 

D) Relatively expensive compared to other forms of pest control.

32. Why do the powerful roots of dandelions make them good pests? 

A) They are deep and hard to remove completely. 

B) They store food which helps them get off to a quick start in spring. 

C) They release chemicals that slow down the growth of other plants. 

D) All of the above 

E) A and C 

33. Which of the following are not important decomposers in the soil? 

A) wasp larvae 

B) bacteria 

C) fungi 

D) earthworms 

34. Which of the following technologies increases erosion? 

A) intense irrigation 

B) shelterbelts 

C) using forages in a crop rotation 

D) zero-tillage 

35. Growing plants without soil is called … 

A) greenhouse cultivation 

B) zero-tillage 

C) hydroponics 

D) crazy!  You can’t grow plants without soil.
For questions 36-39, choose the correct term from the following list to match the definition:

A) Fertilizer

B) Biological Control

C) Irrigation

D) Parent Material

36. Method of pest control where animals are introduced to control pest population

37. Technology in which pipes and sprinklers add water to crops

38. Nutrients added to soil to improve plant growth

39. Non-organic material that makes soil

For questions 40-43, choose the correct term from the following list to match the definition:

A) Bioaccumulation
B) Salinization
C) Humus
D) Horizons
40. Layers in a cross-section of soil
41. Increased concentration of poisons through the food chain
42. Condition in soil caused by high amounts of salt

43. Soil created from broken-down plant and animal matter
Picture time!
Use the diagram below to answer questions 44-48
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44. What flower structure is labeled “a”?

A) anther 

B) stigma 

C) style
D) ovule 

45. What flower structure is labeled “d”?

A) anther 

B) stigma 

C) style
D) ovule 

46. What flower structure is labeled “g” (note:  these are the small round structures inside of the “f” structure)?

A) anther 

B) stigma 

C) style
D) ovule 

47. What flower structure is labeled “h” (note: this is all of the structures on the left side of the flower together)?
A) stamen 

B) anther
C) pistil
D) stigma 

48. At a berry farm, the stem of a raspberry plant was bent over and covered in soil. 

Soon this stem rooted in the soil and became a new plant. What is this technique 

called? 

A) cuttings 

B) grafting 

C) layering 

D) cross-pollination 
BONUS: (1 MARK)
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49. According to the graph, what is the relationship between fertilizer amount and 

yield? 

A) More fertilizer means better yields. 

B) Less fertilizer means better yields. 

C) Fertilizer does not always increase yields. 

D) Fertilizer can only increase yields to a certain point. 

